Chemistry 271, Section 22xx Your Name: \(% &
Prof. Jason Kahn 4

University of Maryland, College Park Your SID #: <
General Chemistry and Energetics Your Section #: ( 1“4'% T‘(L}/ ok Y J

Exam I (100 points total) dtober 5, 2009
You have 50 minutes for this exam. =54

Exams written in pencil or erasable ink will not be re-graded under any circumstances.

Explanations should be concise and clear. I have given you more space than you should need. There is extra
space on the last page if you need it.

Y ou will need a calculator for this exam. No other study aids or materials are permitted.

Generous partial credit will be given, i.e., if you don’t know, guess.

Useful Equations:

K, =[H"][AT)/[HA] pH = —log([H']) K, =[HA][HOV/[AT]
F=ma )e"”+1:O PV = nRT
K, =[H[HOT] pH =pK, + log [A]/[HA] pl = (pK,+pK,,)/2

R =0.08206 L-atm/mole K 0°C= 273.15K

Honor Pledee: At the end of the examination time . please write out the following sentence and sign it. or
talk to me about it:

3

“I pledge on my honor that I have not given or received any unauthorized assistance on this examination.’

wvﬂ&w% e.:_,:«f %Bn’.

extra credit for filling out this page accurately and completely)
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1. (20 pts) Multiple choice: Circle the single best answer for each question

(a; 4 pts) The Henderson-Hasselbach relationship is

Always true, not always useful
(b) A useful shortcut for calculating pH when either [HA] or [A-] is very smal small relative to [H+] or [HO-]

(¢) Useful especially for strong acids and bases ~ No! e
(d) Equivalent to the water self-dissociation equilibrium = —?

(e) (a) and (c)
(b; 4 pts) At equilibrium,

(a) The concentrations of reactants and products remain constant -y+§
(b) The rates of the forward and reverse reactions are zero ~wa !
(¢) The rates of the forward and reverse reactions are equal —Y¥5
(d) All molecular motion has stopped ~we

(a) and (¢)

(c; 4 pts) The relationship K, K=K, arises because o @ j% au - c.kuvrt bagc ‘0 aMV
a) It refers to protonation and deprotonation of the same intermediate gtate of a polyprotic acid
The K, and K, equilibria add to give the water self-dissociation equilibrium
(¢) Mixing acid and base gives water
(d) K, and K,, are simply the same reaction written in forward and reverse directions
(e) None of the above

(d; 4 pts) At high pH, enzymes can cease to work because

(a) The protein unfolds

(b) A residue acting as a base is protonated —«e
(c) A residue acting as base is deprotonated -
(d) A residue acting as an acid is deprotonated

(a) and/or (d)

(e; 4 pts) The definition of an ideal gas is that

(a) It is completely unreactive —ne
(b) It exerts pressure on the container only because the particles repel each other —» —h_,7 Qe
(c) Its temperature is inversely proportional to pressure at constant volume pv/=,e1

Iii It condenses to a liquid at low temperature ~ resl ?‘m cp ! ~ =

None of the above

Score for the page
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2. (45 pts) Acid-base chemistry
Consider the tricarboxylic acid citric acid drawn at the right O OH
in its fully protonated (pH 0) form. Its pK,s are 3.13, OH O
476, and 7.40 (actually the last one is 5.40, but I
changed it for this problem so that you can assume that
only the pK, closest to the pH is relevant). O OH

(a; 10 pts) What is the pH of a 0.150 M solution of citric acid? OH
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(b; 3 pts) What is the average net charge on citrate at pH = 4.767
ny%f‘ WV}‘W (3 A W\\«/‘:) {,;‘9414"1/44:( . A—./"efe‘?,( eL_(;?( = f , i(z- : .. y ;
(\N, ,;(qlﬂt(y Zzer |esS ./-%Wf 2 b~ (m)

(c; 6 pts) Does citrate have a pl between 1 and 137 If it does, what is it? If 1t doesn t, why not?

,T«thﬂ" Ct" V\Qu‘\/@( Sc J’L«u (? o

’"”eH b ke e =0, 13

Score for the page
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(d; 7 pts) Use the H-H relationship to calculate the pH of a solution of 0.150 M total citric amd/mtratﬁ/after
addltlon of 0.275 M NaOH. Assmmt o H~ ,ﬂh ¢ lgeesd o e pu 7 R .

L D[/('” G+ ( ' J OSu¢ 01 s L 6360 7 Clopeet
o | - T \0 o ’
g, 00 7 fv' ") tr B 14 gl
L
C).\ZS’ . U -
»H%H%——-—— = W g S = 546
o o
N\ \
i/.‘ 17 ‘
T -(E" T{\fé;ﬂ Iﬂ 2 I-\ = + ]‘1
t'?_/‘i' :_:A WV ,""f-{l'f;_ r"? !fji’_-‘ fi-(_? \ f:> i *ﬂ' "- F’ VJ g";;\ a{.}j. ‘5{? J
e
5,?{ 3 pts) Assuming the H-H still applies, what would the pH be if you diluted the above solution 10-fold (to
0.015M citrate)?
i el !/ B Ny . / f
’tl,—e Sane = DKM (Jg;’é* Cipn §Si St (;'_.l,i,'ﬁlfé;‘)
£ y
(¢£; 5 pts) If you diluted the solution further 10000-fold (to 1.5#10° M), would the pH go up or down, and
why (qualitatively)?

| + L .
Tl wmbl e wp (st 7) -

H \{gx([hfL M’ c (G Cen (\V\c\/\q"& 14/,\,75\ /’jwﬁh

v { do oot Fu b SS T (107 s 3 lbeeTé)

sl O = Wk olrvee K 7’“ Wi o fre vyl so
Tl b oadt L] T,
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(}p{ 9 pts) On the graph below, sketch the titration curve for NaOH addition to citric acid. Label the buffering

2, regions and the equivalence points. Indicate the pH’s of the centers of the buffering regions, but don’t
worry about the exact pH’s at equivalence points. Indicate the parts of the curve that would be different
depending on the actual concentration of citric acid rather than just the number of NaOH equ1valents

added. Assume the pK,s are 3.13,4.76, and 7.40. ﬂ
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QI' 3 pts) Why is the actual last pK, (5.40) for citrate higher than the pK, for acetic acid 4. 74)‘?
A\\-‘ \*Le.j* {/sz‘y""’* w® A mdz&‘('w W’Hr;g, Ctam Q 2 .m N\
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3. (18pts) An ideal gas, maybe.
“The hydrogen economy has been proposed as a possible future solution to political and technological
problems.
(a; 6 pts) What reaction is used to get useful energy from hydrogen? Why is H, viewed as a desirable
fuel for cars, especially in urban areas?

23 2nh 0D = 2H0(05)

Gmb NN . HWU - a2zl o el o f
2 ,Mw{f}rl 3!W4 m«% M@a i N,,\/
- @2’&%{‘ e (O 7 frthn A Co tho — o, +H

Vie Symsas  C 4 o — Co + Ky,
(b; 6 pts) Why would some US policymakers love to have an efficient method of producing H, from
coal? Explain why such a process, in and of itself, either would or would not help at all with global
climate change caused by anthropogenic CO,.

— UJZ. {,W R (c,}(‘ 6 wcu(\ WZM,U Le m(h{.ﬁ {w g -;;,‘ {—3

— ,LF: We wge Cpe.(} e C_C}L o who fle C*‘Wf”é*@vt
+72 3‘*3:\‘ e Four buaad & TF o0 ot Seents k- few Co,
’@-m\ LUs W\) (N /‘@% L%q: Cerre f'qu\») "‘

(c; 7 pts) If a car has a 50 L hydrogen fuel tank that holds H, gas at 200 atm pressure (roughly the
pressure found in a scuba tank), at 25°C, how many grams of hydrogen are in the tank? What would
be the pressure be if the same amount of hydrogen were allowed to occupy a 75 L tank?

L) PV= neT
ZQC‘) ok, SVl = N O. 0§ 106 L"“\'f‘—m/‘wze(z (€ - qu—”"
[ ool

n = wek, = Y09 myles + |

O.08 206 » 24548

¥ Lolrol W, = Sl{ } +7 (tﬁs’ F conveet)

( 2.0lb

PVi= PVe o P=x loor 221330 7
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4. Fundamentals of equilibrium,
(a; 4 pts) State LeChatelier’s Principle

"'ULQV\G‘- ‘;“VYJS 3 P(.;, c;/rﬂ}:’\wb/( '{'B C @Weﬂﬂﬁ et Qfa l'lfvw\vwm

’hfc é’,f(o( U'Dw [ am S’bu“? b pellove e e hess,

K

w9
V-

Consider our favorite reactions A + B <-> C, with K,, = K}, and C+ D <> E, with K, = K.
(b; 3 pts) In terms of K, and K,, what is the equilibrium constant for C <-> B + A ?

for (2 RiA 3 VM 3

{

Jéazf

(c; 9 pts) Prove that the equilibrium constant for A + B+ D <-> E is K,*K,.
Ca s ;= L]
—— L<](v)

Ar 6 <D = (2 Ty - _Lad = kv

LAJU6TID]
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